40.

41.

42.

12x 12 =144 43.

7Tx7=49

Length of the bigger square
=12+7=19cm

19 x 19 = 361 cm?

Ans: 361 cm?

a) Look for the pattern.
BGGGBGGGBGGGB...
33-1=32
32+4=8
Number of boys
=8+1=9
Ans: 9

b) Number of girls
=33-9=24

24 8 1.

33 11

8
Ans: 11

Before
Sally[ T [ |

Cindy | | |
After

Sally[ ] |
Cindy

9 units = $204.30

1 unit=$204.30 + 9 = $22.70
6x$22.70 = $136.20

Ans: $136.20

}$204.3O

Look for the pattern.

Number of | Number of Pattern
tables Chairs
1 6 1x4+2
2 10 2x4+2
3 14 3x4+2
a) 12 x4 =48
48 + 2 =50
Ans: 50
b) 110 -2 =108
108 + 4 =27
Ans: 27
Work backwards.
A 1<S_t5p
* ¢1step
N
Ce <
E o= y ¢ B %
D

a)4x128 =512 cm
Total length of 8 dotted lines
=512 - 320
=192 cm
192 +8=24cm
Ans: 24 cm
b) 320+ 8 =40cm
Ans: 40 cm
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